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QUESTION 1

Which of the following statements regarding removing a Central User Administration are true? (Choose two.) 

A. Once the CUA has been configured completely and the users have been transferred to the CUA master client, you
cannot remove the CUA completely any more. 

B. A child system can to be removed from the CUA (permanently or temporarily). 

C. You can remove the CUA completely. 

D. When you remove a child system from the CUA you automatically lose all users that exist in this child client. 

Correct Answer: BC 

 

QUESTION 2

Which of the following process start sequences can typically be observed when starting an SAP system based on AS
Java 7.0? Note that the specified sequence does not need to be "complete", only the chronological sequence of the
selected processes is considered here. 

A. 1. Database Process(es), 2. Dispatcher, 3. Enqueue Server 

B. 1. Enqueue Server, 2. Server Process, 3. Database Process(es) 

C. 1. Database Process(es), 2. Message Server, 3. Dispatcher 

Correct Answer: C 

 

QUESTION 3

Which of the following statements regarding the Transport Management System (TMS) are true? (Choose three.) 

A. For TMS to work, the user ID "TMSADM" is automatically set up on the Transport Domain Controller in client 000. 

B. For TMS to work, the user ID "TMSADM" must be created manually in transaction SU01 (User Maintenance), in client
000 of each SAP System belonging to the same transport domain. 

C. TMS automatically creates RFC destinations for each SAP System, which can be displayed using transaction SM59
(Display/Maintain RFC Destinations). 

D. For each client in each SAP System, TMS creates RFC destinations which can be displayed using transaction SM59
(Display/Maintain RFC Destinations). 

E. During the configuration of the transport domain controller, transport domain control data is written to the file
DOMAIN.CFG in the transport directory (subdirectory "bin"). 

Correct Answer: ACE 
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QUESTION 4

Which statements are correct with regard to updating data in AS ABAP-based SAP systems? Note: There are 2 correct
answers to this question? 

A. Only Update work processes can update table content. 

B. Dialog and background processes can update table content. 

C. "Update (UPD)" and "Update 2 (UP2)" work processes can update table content. 

D. Table content has to be updated via "Asynchronous Update" 

Correct Answer: BC 

 

QUESTION 5

When deciding on the network bandwidth needed to connect front ends to an SAP system (using a WAN connection),
you should consider which of the following? (Choose three.) 

A. The number of users connecting using this line. 

B. Using SAP\\'s advanced online data compression technology (SAP ODCT) to minimize the network load. The
software needed for this feature is sold separately. 

C. The volume of "non-SAP-related" traffic (for example, office documents) using the same connection. 

D. It might be useful to switch on the "Low speed connection" flag for the remote connections. 

Correct Answer: ACD 
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